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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 17735 2.2 0.8 3 74.4 99.4

2a 17501 1.8 1 3 60.9 98.1
2b 17206 1.4 1.2 3 46.6 96.5
3a 17116 1.7 0.6 2 82.7 96
3b 16873 1.6 0.7 2 78.6 94.6

3c(i) 17201 2.2 1 4 53.9 96.4
3c(ii) 16865 1.8 1 4 45.5 94.6

4a 17162 2.3 1 4 58.6 96.2
4b 16632 1.9 1.1 4 47.6 93.3
4c 16514 0.5 0.8 2 23.9 92.6
4d 16536 1.5 1.1 4 37.8 92.7
5a 16183 3.4 2.3 9 37.3 90.7
5b 12993 1 0.9 4 24.3 72.8
5c 16094 2.6 1.3 6 43.3 90.2
6a 16614 1.9 1.3 3 63.8 93.2
6b 14327 2.5 2.1 8 31.5 80.3
7a 16438 3.1 1.6 7 44.1 92.2
7b 16888 3.3 1 4 81.9 94.7
7c 16315 2.5 1.2 4 62.4 91.5
8a 16157 1.5 0.7 2 73.6 90.6
8b 16569 1.2 0.6 2 57.5 92.9
9a 15185 2.7 1.6 6 44.7 85.1

If you are accessing this 
document in a web 
browser and are only 
able to see this single 
page, please download 
the document and re-
open it in Adobe Reader 
in order to fully access 
the exemplar material.
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AC 
Met 


Q Answer Marks 


AC2.3 (c) Explain how the restaurant’s front of house can meet the needs of 
the following customers: 


(i) A large family with friends celebrating a child’s birthday. 4 


Award 0 marks. No response or quality of response is not sufficient 
for a mark to be awarded. 


Award 1-2 marks for a basic explanation of how front of house can 
meet the needs of the customers.  Response maybe listed or bullet 
pointed with basic explanation. 


Award 3-4 marks for a good explanation of how front of house can 
meet the needs of the customers. Response is clear with some 
application of knowledge of how front of house can meet the needs 
of the customer. Responses/answers are justified with explanation.  


Responses may include: 
Answers and example of explanation: 


• wider choice on menu: – to meet different dietary needs of the
family


• offering children’s menu: as there are children attending, a child’s
menu would be suitable to meet the needs of the customer to
cater for different portion sizes


• offering meal deals for party: meal deals will encourage more
bookings or larger groups


• providing highchair: there maybe younger children at the family
party and a highchair would allow adults to eat at the same
time/safety reasons to secure small child


• balloons/party bags/offering colouring in books: These gifts
always offer children an activity and keep them busy


• child activities/party games: Keeping children at table and
enjoying games/fun


• decoration of the table/room: Makes the meal special to
celebrate the birthday


• lighting and bringing out cake/singing happy birthday: this allows
the party to celebrate the birthday of the person/making special
memories


• seating them all together: as they are celebrating a birthday it is
vital that they sit together for the party as it’s a celebration


• offering an adult table with children’s table next to them: This
allows adults to have adult conversations and to have all children
in one area which is easier to manage


• child friendly area/away from kitchen or any service doors:
Prevents accidents from happening


• providing foods for SDN: a number of customers have special
dietary needs and this would meet the needs of the customer


• warming bottle or baby food: small babies often need a feed
whilst out.


• having waiting staff that are good with children: Children feel
happy and parents relaxed with staff who are child friendly


• offer a private area for party gives them privacy/more intermit
setting







© WJEC CBAC Ltd. 7 


AC 
Met 


Q Answer Marks 


• offering easy access/ground floor (prams/disability) Helps with
families with small children/access and older generation who
struggle with mobility


• deal with issues and complaints quickly and fairly: Meeting the
needs of the customer in order for them to feel happy


• clean facilities: Meets the need of the customer/meet
requirements for health and safety


• safe and secure environment: customers to feel safe and relaxed
within the restaurant.


Credit any other acceptable response. 












3.



Sticky Note

Command work is to explain for this question. The examiner was looking for the learners to explain the response; reading the scenario and responding with appropriate answers and explanations of this in the answer.
The learner has given some correct responses, however, has not explain their response. 
The command word is for the learners to explain their responses. Learners should be taught to understand the command words of the questions.
For question (ii) the learner didn’t respond well. The response was limited and falls into the band 1-2 marks. 
The learner covered accessibility and help however didn’t explain their response.

The learner obtained 1 out of 4 marks for both answers. 
Encourage learners to understand the command word and respond to this appropriately.  













3.



Sticky Note

This learner has given some correct responses to the question and has EXPLAINED their answers. They have PEE; Point, Expanded, and explained.  The learner had focused on two main correct answers with some good explanation. Falling into the band of a “good response” band (3-4 marks) The learner received 3 out of the 4 marks available.  

For question (ii) the learner responded well. Providing correct response and explaining these responses. Falling into the good response band (3-4) the learner received 3 marks.   

If the learner had expanded more on the answers or provided additional responses; such as discussing accessibility for the elderly guests or décor for the birthday guests. 













3.c



Sticky Note

Command work is to explain for this question. The examiner was looking for the learners to explain the response; reading the scenario and responding with appropriate answers and explanations of this in the answer.
The learner above has grasped the main impetus of the question; they have referred to a few correct answers underlined in red and have explained their responses these are underlined in purple. Full marks awarded.

For question (ii) the learner didn’t respond well. The response was limited and falls into the band 1-2 marks. 
PE notes: command word is to explain.
The learner has been repetitive with their response
Coverage of quieter area/private 

The learner obtained 2 out of 4 marks
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Examiner
only


(c) Explain how the restaurant’s front of house staff can meet the needs of the following
customers:


(i) A large family with friends, celebrating a child’s birthday [4]


(ii) An elderly couple on a romantic date night [4]
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PE notes: The learner has made one 
point and explained well – 2 marks out 
of 6


If the learner had drawn on another 
point and explained that would have 
taken the marks up into the next 
banding. 


MS states for 3/4 marks 2 points and 
one explained 


Total marks 2/4


5.












PE notes: questions regarding social 
media and success and failures are 
normally completed well by learners.


The learner responded well to the 
question. They have made correct 
responses to the question and 
explained these responses well. 


They discussed decline of the hotel 
leading to less income and staff losing 
thei 
jobs. 


eputation being off 
putting to others using social media. 


Resulting in the staff not wanting to 
work at the hotel and the hotel closing 
down.


A well written response; explaining. 


Excellent responses and well explained 
Full marks awarded 6/6


A well written response; explaining. 


5.
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AC 
Met 


Q Answer Marks 


AC1.4 (c) Explain the effect these comments could have on the success of the 
Old Woodard hotel. 


6 


Award up to 6 marks. 


Award 0 marks. No response or quality of response is not sufficient.  


Award 1-2 marks for a basic explanation of the effect the negative 
comments could have on the success of the Old Woodard hotel. 
Response will be limited in detail, mainly listed/bullet points. 


Award 3-4 marks for good response, with some application of 
knowledge in relation to how media can affect the success of 
establishment. Response is justified with 2 or more points with some 
explanation.  


Award 5-6 marks for a very good response with good application of 
knowledge in relation to how the media can affect the success of the 
establishment. Responses is clearly justified with 3 or more points 
and clear and detailed explanation. 


Responses may include: 


• less profit


• less customers due to bad press


• people losing their jobs due to decrease in customers


• bankruptcy / closing down


• bad reputation for hotel


• more people coming forward about accidents


• people sharing the news online resulting in more negative press,
forwarding and sharing with friends


• trip advisor / online reviews


• hard for establishment to change people’s perspective of the
establishment


• customers being more critical and finding faults when there aren’t
any


• staffing issues.


Credit any other acceptable response. 


5.












5.



Sticky Note

The learner has made a few points and explained one well. Allowing access to the “good” response band. If the learner had made reference to job losses due to lack of guests this may have taken the learner in to the very good band bracket.
 
MS states for 3/4 marks 2 points and one explained 

Total marks 4/6













PE notes: The learner has made one 
point and explained well – 2 marks out 
of 6


If the learner had drawn on another 
point and explained that would have 
taken the marks up into the next 
banding. 


MS states for 3/4 marks 2 points and 
one explained 


Total marks 2/4


5.



Sticky Note

The learner has made one point and explained well – 2 marks out of 6.
If the learner had drawn on another point and explained that would have taken the marks up into the next banding.
MS states for 3/4 marks 2 points and one explained.
Total marks 2/4












PE notes: questions regarding social 
media and success and failures are 
normally completed well by learners.


The learner responded well to the 
question. They have made correct 
responses to the question and 
explained these responses well. 


They discussed decline of the hotel 
leading to less income and staff losing 
their jobs. 


They discussed bad reputation being off 
putting to others using social media. 


Resulting in the staff not wanting to 
work at the hotel and the hotel closing 
down.


A well written response; explaining. 


Excellent responses and well explained 
Full marks awarded 6/6


A well written response; explaining. 


5.



Sticky Note

Questions regarding social media and success and failures are normally completed well by learners.
The learner responded well to the question. They have made correct responses to the question and explained these responses well.
They discussed decline of the hotel leading to less income and staff losing their jobs.
They discussed bad reputation being off
putting to others using social media.
Resulting in the staff not wanting to work at the hotel and the hotel closing down.
Excellent responses and well explained.

Full marks awarded 6/6
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The Old Woodard has a legal obligation to report injuries or dangerous occurrences to the 
Health and Safety Executive (HSE).


(b)	 Describe the responsibilities of the employer in relation to RIDDOR in the workplace. [4]


The injuries sustained by customers at the Old Woodard Hotel have recently been the subject 
of negative comments on the hotel’s Facebook page.


(c) Explain the effect these comments could have on the success of the Old Woodard.	 [6]


19


5.





















7b: 4
















PE notes: command word is to describe the role of 
the EHO- the role will cover the responsibilities of the 
EHO


Same marking as previous years – we looking for a 
good application of knowledge and understanding 
from the learners  


This learner has described the role of the EHO – 
making points and expanding on the description


The key to this response was to describe 


The learner provided a comprehensive description, 
presenting several pertinent points and explaining 
them effectively. 


This response aligns seamlessly with the criteria for a 
"very good response." The learner adeptly employed 
the PE (Point, Evidence) structure to communicate 
their findings. Consequently, awarding a grade of 6 
out of 7 for this answer was justified.


7.
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AC 
Met 


Q Answer Marks 


AC4.2 7. (a) Describe the role of the Environmental Health Officer. 
 


7 


  Award 0 marks. No response or quality of response is not sufficient 
or a mark to be awarded.  
 
Award 1-2 marks for basic response, limited application of 
knowledge is evident; may resemble a list or bullet points.  
 
Award 3-5 marks for a good and clear description of the job role. 
Some application of knowledge will be evident.   
 
Award 6-7 marks for a very good description of the job role of EHO, 
with a good application of knowledge evident.  
 
Responses may include: 


• carrying out routine or unplanned visits and inspections to ensure 
compliance with health and safety legislation and taking action to 
improve conditions  


• providing advice and assistance to householder and businesses  


• taking photos, producing drawings, removing samples and 
conducting interviews as part of the inspection process  


• investigating complaints from the public  


• carrying out food hygiene and food standards inspections  


• investigating accidents at work and complaints about poor 
standards of health and safety, as well as identifying areas of 
negligence  


• investigating outbreaks of infectious disease and preventing it 
spreading any further  


• monitoring radiation activity, taking action when safety levels 
have been exceeded  


• issuing licenses for food providers  


• advising on planning and licensing applications  


• giving talks at public enquiries, meetings and exhibitions, as well 
as ensuring compliance through education, advice and 
enforcement  


• taking enforcement action, initiating legal proceedings, preparing 
and giving evidence in court  


• advising on health and safety issues in relation to new buildings 
and developments. 


 
Credit any other acceptable response.  
 


 












Sticky Note

Learner has made a couple of relevant points; however, none of these have been further described resulting in a maximum of 2 out of the 7 marks being awarded. The response resembles a list which is only allocated a max marks of the lower band.













7b: 4



Sticky Note

Learner provided a commendable response to the question, but there was a tendency to reiterate the same point multiple times.

To enhance their answers, it's advisable to encourage learners to jot down key points and then elaborate on as many of these as possible, following the PEE (Point, Evidence, Explanation) structure.

In this instance, the learner addressed the topic of storage effectively, showcasing a strong understanding of the concept. However, it's worth noting that their response beyond this point was somewhat limited. Consequently, the overall response fell within the "good" banding. Awarding a score of 4 out of 7 for this learner's performance was reasonable. The response did not quite reach the level of "very good," placing it squarely in the middle of the "good" band.

















PE notes: command word is to describe the role of 
the EHO- the role will cover the responsibilities of the 
EHO


Same marking as previous years – we looking for a 
good application of knowledge and understanding 
from the learners  


This learner has described the role of the EHO – 
making points and expanding on the description


The key to this response was to describe 


The learner provided a comprehensive description, 
presenting several pertinent points and explaining 
them effectively. 


This response aligns seamlessly with the criteria for a 
"very good response." The learner adeptly employed 
the PE (Point, Evidence) structure to communicate 
their findings. Consequently, awarding a grade of 6 
out of 7 for this answer was justified.


7.



Sticky Note

Command word is to describe the role of the EHO- the role will cover the responsibilities of the EHO.  

Same marking as previous years – we looking for a good application of knowledge and understanding from the learners.

This learner has described the role of the EHO – making points and expanding on the description.

The key to this response was to describe.

The learner provided a comprehensive description,
presenting several pertinent points and explaining them effectively.

This response aligns seamlessly with the criteria for a "very good response." The learner adeptly employed
the PE (Point, Evidence) structure to communicate their findings. Consequently, awarding a grade of 6
out of 7 for this answer. justified.
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7.	 David has food poisoning after eating a meal at a local restaurant. An Environmental Health 
Officer has been sent to inspect the restaurant. 


	 (a)	 Describe the role of the Environmental Health Officer. 	 [7]


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	 (b)	 State two visible and two non-visible symptoms that David would have from the food 
poisoning.	 [2,2]


Visible symptoms
(i)   . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(ii)  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


Non-visible symptoms 
(iii)  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(iv)  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .











